i

=% X% + 7128

©) xxx—y:x—
y
@ x5 (=8 +yxT=-5+7Ty
® )c+y><3:i
3y
@ (y+z)+2xx=" 2Z)x
(y+3)

sto] LErdl 202 84

oF

1o

Tlo

A

Kol
-

?



( )—(2x—1) = 4x + 3

D 2x+4 @ 2x+2 ® 6x+2

@ 6x+4 ® —6x-2




x% ° &aE 200g T y% o &AF= 500g ©] ATh F AFES

AT 50 SEE x oy B ALE Ao Uehyolet,

@ (2x—;—5y> % ® <2x—5y> % 3 <5x—2y) %
7 7
@ (2x—5|—5y) % ® <2xg5y) %



2x -3 _
4. x=-2y=3:-190, =205 o) gre el



=
Ho= Fotx f A% 6km 2

HolAq & 3 AlZte] Agitt. & € o 29 A Eot2 o 29

A7+e 77t Fatelat

acl-: A7F
au; A 7F

8

11



6.

the 871 F 84 9

Tlo
Py
rlo

-9

@ axx b=+ c = o] 2 7ot}

© -bx+4a o DA Alg= -5 o], TP 4a
oltt.
© 5x%—4x+3-5(x? - 1) = gap]oltt,

@ 2ab +2a +2b + 2 ©] A= 2 ot

0 006 006 ®o0e 06,6




7.

= gaz o] thate] xvy = Liy 2 Holgt}. qvh — —

3x -4y
i, bVa °] Zt-& F-5hofzt.

> S
=%

N W



4xy

8. 0olofdE L yydrsted L =o-Tojm x=
x y x*+xy+y

3x% 4 3y?
x2 — xy + y?

D L
=%

y = %Jq,g_%k%%}oﬁ



